———

; . 5 () What do you mean by trllaterat'ori? Expl‘ziin the

- K T 1T |

- Time dllowed - 3 hours ] [Maximum marks - 75'

- Note : (i) Qmesa‘mm Ne.1 is wmpw&swy Azz‘empz‘ one quesz‘zom

sesspeQOCH g

N\ 3@83
IB ']Fech (anﬂ) 4th SeHHestter (G SCheme) /.
Exammatwn May—Z@z 4
GEOMATICS &AERHA]L SURV]EYM\IG '
| Paper-PCC-CE-208G

ﬁom each sectzon

(zz) All questzons carry equal marks.

(zzz) Asszume mzssmg dam zf any, suzz‘ably

1. Describe the folﬂowmg IR\ 15

. (a) | Apphcatmns of total statlon 3
(b) Normal equauon 3

| @) ZemthandNadlr

| ) leference between actrve and passwe remote
sensing |

(&) Terrestrial’ photogrammetry
(f) Components of GIS.

Se*cu:ﬁmn—A

principle and methods of trilateration, 7




(2) - 3083

- (b) Deuve an equation for calculatlng RL of a pomt
when: base of the object is 1naccesmb1¢ and

~ Instrument axis at. different levels. Instrument

statlons in the same vertical plane s 8 f

W

(a:)"‘ Define most probable value. Explam in detall -

various law of weights. - DR §

(5) F ind the most pmbable values of angle« A and B !

~ fromthe foﬂowmg givendata: B

| A=20°1010" - weight=6
'Bésoozefgm weight =4

A+B=50°30'50" weight =2 |

| S@cﬁtmﬁn—&% . |

4. (a) The alﬁtudespz-a Staif at upp@f -‘and_‘-flow{er'transiitsv |
| are 72°40" and 25°30'. Both the transits are on the

north side of zemth of the place. Find the latitude

| of the place of observatlon and declmatlon of the -
star. | o AON 7

(b)_' | Denne Naplers rule of mrcular parts and its "

| .apphcatzonsm NN 8
(i) Starat elongatmn A

(i) Starai prime vemcal

(iii) Staratporizon



3y -'*.,*j 3@83f‘

. What o6 qua‘tlon of time? Descrlbe the dlfferent

tlme systems indetail. -~ | o

Determine the hour an gle and dechnatlon of a star
fmm the following data: - - g

Alumde ‘of star = 2003 1’

. Azmui:h of star = 4-8°W

.Lauwde of the observer =5 O°N

S@@tn@ﬁn—@

What is a@rml ca’mera? Explaiﬁ briefly the

s dharacteras’ms of dlfferent components of aerial

% 1"‘_- . - .
- /camem ST 7

(2)
| ®
. ®
(b}
@

- (b)

The sc:;alp of an ameﬁ ph@t@graph is lem= 100m.

The photogmph 51ze is 20 cm X 20 cm. 'Determine

’che number of photographs requlred to cover an
area of 100 sq. km if the longitudinal lap is 60%

andthc351delap1s30% - O 8

Define rellef‘ Derive an expression for

,,,,\determlnmg.rehﬁf'dISplacement T

. What is parallax" Derive the parallax equatlon for

determining the height from a pair-of vertical

photographs;.r; U e 8




@
- ®
. @

()

| 'Secﬁﬁ@m—fﬂ) | | |
Describe_ in detail the "dif_ferent components of a

GPS. ... e 7
Describe briefly the various methods of GPS

. suweymo - Also give the apphcabﬂty and"

limitations of wgh t@chmques 8.

Wha.t is sai@mfw Qrbﬂt@ D@scmbe dlfferent types", :

- of sat@mt@ orbits. 7

What are ih@ dxffemm phenomenon take places |
during EMR propagemon through medlum? Explaln’
in detail. IR 8



| 3082
- B.Tech. (Civil ]Engg.)', 4“1 Semester \,
(G-Scheme) Examination, May-2024
STRUCTURAL ANALYSIS.

| Paper : IP’CC-CIE—Z%-G |
Tinie allowed 3h0urs] [Maxzmum marks : 75

Note: Attempt Jive questzons in all, selecting one
question from each sectzon Question No. 1 is
. 'wmpwtsmy All questzons carry equal marks.
L | Describe the followmg N 15
(9 Kmematlc mdetermmames N
®) | Castxghano s theorem |
o (e) Temperature rises on three hmge arch
() ILD for bendmg moment
’ _(é) : Apphcatlons_ of anchor cable .
oo e Section—A <
2. A beam ABCD is simp'ly sUppofted at A and
- D over a span of '1‘2m. The beam carries point
~ loads 50 KN and 30 KN at a distance.of 4 m
and. 6m from the end A. Neglectmg the
"’welght of the beam find the slopes at A, B, C
'.f ._and D and the: deﬂectlon at C and D Take
= 12x10® mm"* andE 200 KN/mm 1507

3@82-P-4Q9(24) T



@ 3@82
. o Find the Vertlcal and horlzontal deﬂectmn of
joint C of truss Shown in ﬁg The area of th e
mchned tie 1s 1500 mm’~ while the area, of the. ,
honzontal member is 120() mm Ta,k e'.""

| -E =210 KN/mm’ fj.j P N L

Seeﬁ’ﬂ@ﬁnm}Bﬂ

4. The l.oad system as shown m ﬁg moves ﬁ'om»'- T

lef to nght ona glrder of span 10 meters Find:

the max1mum bendmg moment Wh10h can

occur under the 100 KN load.. 15 .

1?-01'<N soKN IOOKN IOOKN
&%6 gm 1. 2m.

AT T Ty —a

OB 1,0,m

N Deap



B posmve and negatlve Ifo e

120 KN A ©for the glrder 15.
| OI\N 1501\N DS0RN

- Y Spml 4}

S@@:mlm-(:

A ﬁ:hr@e hinged. palabohc arch has 2 span of —

35m and rise of 6m It subjected toa umformly -

| dlsmbufz@d E@ad @f 75 EQ\I actmg at 12m from

“the right supp@rt ﬁndﬁhe 1 -'_ 15

" (1) Hammmaﬂ Vthmst and vemcal reactxon o

on supp@ms

| () Normal thrust and rad1al shear -

distance of 25m and 70m fro
~the sh@ar force. and bendlng moment for the .
. girder at a dmtance of 40m from left en
N j‘_suppﬂrtmg c.ablc has a central dlp (4]
; S - also the maxnnum tenslon in the cable

3@82

- The three ‘hinged stiffened guder of a

suaspvmsmn bridge of span 130m 1S subjected to

a two point loads of 200 KN and 250 KN ata
m left end. Find

[PTO

d. The

f 10m. Find



) - 3082
S@Q&n@ﬁﬁm@
. Analysis the followmg beam using slope and
deﬂechon method and draw its bendmg moment
| 30'I{N/’in ;,40' EN- 10 KN/
o no D
de— 4m —>§<—2m —le Zm‘ Sle— 4111 —|

SLASALIAL

| Analysm the f@ﬂ@wmg frame usmg Kani’ S
O Method. 15

6m - |.




N 3@84 |
Te«:h 4th Semestm ((Cnvnll Engg.) G-Scheme
Examination, May—Z@ZZ& |

DMTEPJALTESTWGAND EVALUATION

Paper—]P’CC -CE-210-G

Time allowed 3 hours] [Maxzmum mar kS 75

Note : Az‘z‘empz‘ five quesz‘lons in total by selectmg one from
each unit. Q. No. 1 ES compwlsmy

1. | ‘Descnbe the followmg,. 15
{a) M—Sand :
(b) Presiressed Cone}t’ete}
~ (c) Creep - /t,
(D) “Shrmkage of matemai N
(e) Dams i Ty
| | ~ Seet_ﬁ@neA— | :
2.  (a) Explain the light weight concrete and high -
o performanee concrete in detail. 15
(b) Explain the function of b1tumen and asphalt in
. | eonstructlon mdustry | | 7 5
G s @, - Biplain the different types of cement used aleng;
\ = f . with their sultablhty Lt 75
test used‘ for cement in

‘ 4 (b) Explaln the dlfferent
e laboratory NN




:\H

(a)
NOR

@
(b)

(2 3084
Secﬁoim-‘B |

Explain the properties of fresh concrete. 7. 5

: Explam the durability characterlstlcs of concrete ',

’75

: ‘Explam in detall the prmc:lple of mix de31gn 7.5

Explain ACI mix design method and USBR method

~ for the desxgn of concrete mlx S | 7.5

(a)
(b)

®)

' Seeﬁn@}m C

Explain the tensﬂe test ef steel used in laboratory 7.5
Explain the pmcedure of bendlng test and torsmnal

: testofsteel Lol e e 7.8

()

Explam ‘?che prmmple and characterlstlcs of
elasmgﬁy of steei N - .75
Explam the d1fferent types of steel used in civil’

engineering. - S | | 7.5.

| secﬁon;D

o Explam the fracture loughness of dlfferent matenal and
procedure to determlne th/e fracture toughness - 15, >

‘i Explam all the heavy equipment used in the construction

of multlstorey bulldmg L 15



. 3@8@
| B.Tech, 4 Semestor (Civil. Engg.) G- Seheme |

' Exammatnon May—2024
H‘mmmrcs ENGINEERING

Paper—PCC C]E-ZOZ G _
T’me allowed 3 hours] | [Maxzmum marks 75

~ -Noz?e Questzon Ist is. compulsory Attempt total f ive

questions selectzng one question from each Sectzon '
All questions carry equal marks. |

- 1. Explain followmgterms : g, * | (2;5x6)

(a) Total EnergyLine B

(b)- Momentum Correctlon Factor B
(¢) Hydraulic mean Depth LU NS
(d) Sketch the Shear stress dlstrlbuuon across a
. SeCtIOIl Of Plpe \, : *——'4 S T |

(o) _Gradual varied ﬂow |

®) Name the dlfferent forces present in ﬂurd flow -

- o | Umt—ﬁ | .

~

‘, 2. (a) Prove that the maximum veloc1ty n the crrcular' N

.. pipe for viscous flow is equa} to two times the
average velocity of flow.© = c 1S

Gy A laminar flow is taking place in a pipe of diameter -

200'mm. The maximum velocity is 1.5m/s. Fmd 1

the. mean velocri.y and the radlus at wh1oh this

coeceurs. . 75-:

3. Obtam an Expressmn for velocrty distribution in
e turbulent ﬂow for (1) smooth plpe and (11) rough plpeg




'(2) o : “3@8@g"
Umﬁ:—ﬂ | B

Find the maxnnum poWer transmitted by ajet of water

- discharging freely otit of nozzle fitted to a pipe =300 m

long and 100 mm diameter with co-efficient of friction

as 0. 01 The avallable head at the nozzle is 90 m 15.

. A horlzontal pipe line 40 m long is connected toa water

tank at-one end and dlscharges freely into the
atmosphere at the other end. For the first 25 m of its

. length from the tank, the pipe is 150 mm diameter and
its diameter is suddenly enlarged t6:300 mm. The height

of water level in the tank is 8 m above the centre of the

pipe. Considering all losses of head Wthh occut,
determine the rate of ﬂow Take f O 01 for both

o= sectlons of the plpe.. LRGN 15

Unu&—m

Deiennme the maximum dlseharge of water through a

., circular channel of diameter 1.5'm when the bed slope

of the channel is 1i 1n 1000 Take C 60 15

Denve an expressmn for Depth of hydrauhc Jump 1 5

Ulmnff—W

- Prove that the loss of energy head ina hydrauhc _]ump is -

- equal to(d,-d, )3/d1 » Where d, and d,are the conjugate

o

3080 -

depths T Ly 2 U 15

- A300 mm dlameter Plpe carries water under a head of
- 20 meters with:a velocity of 3.5 m/s. If

pipe turns through 45°,
Q. ofthe reSUltant fOI'CC at the bend R e g :;_-t

, find the: magmtude and dlrectlon

the axis of the



| z’frne«'allowed' : 3 hours]

| 3@‘7 9
B, Te(clln (]Bnoa'll‘ech ), 4th S@mesten' G-Scheme
- Examination, May—Z(lZél
@RGANJISAT][ONALBEHAVIOUR
- Paper—HSMC-02-G

[ Maximurm marks : 75

N@t‘e Attempt any five questzons First questzon is

. compulsory and attempt atleast one question from.
each unit. All questzons carry equal marks.

- Write short notes on the followmg o 2_?/zX6=1'5

(a) ~Scope of ma.nagement

- (b). Channels of commumcatxon

() .‘Chﬁueﬁges OfOrgamsanonal behavxour .‘ |
(d) Conflict management | BRI

(e vlmportance of motlvatlon

| .-3@79-P-;-2-Q_'9f. (24)

- () Effect of Orgamsatlonal structure on human

“behaviour - N\
| lUrmut—]l i

What do you 1 understand by management? Explam its
nature its levels roles and functlons in context with
business. . L »‘ __“ | 15

Write' short note on'fOllowing _:' o ?"7‘/2*2:1’5_.%? ..

(2) Administration " |
(b) Scope and lmportance ofmanagement .




Umt-z

4 L’I.What do you understand by MOUV&UOH? What canan
" organisation do to motivate its workers for better
- performance? Explain its techniques and i mportance. 15

5.  Write short notes on following' 7‘/2><2—15-
k (a) Relatlonshlp of Orgamsatlon behav1our Wlﬂ’l other
- fields < . | |
(b) Concept of learnlng
| Unnt-3 | o ™
- 6. Wrrte short note on followmg ;71/25<{2=15

(a) Leader Shlp and 1‘ts quah tles Al Lr

o (b) . Quahtles and functlons of 1eadersh1p

“Define commumcatlon What are the dlfferent channels
by which we can’ commumcate in modern industrial
'_‘ﬁelds‘7 ‘Why it is important for modern 1ndustr1a1
| orgamsatrons Explam with example 15
BRI Unnt-4 o -

._\"s

; What do You understand by organrsatronal change‘?

Explarn In detail its concept types and factors

affectmg
- itwith example .

155

Write short notes c on the fOllOWlng 7 l/z><2—1 5 .

- (a) Meanmg of organlSatlonal structure
- (b) Factors affectlng Orgamsatlonal culture

ff§d3079> _ t




